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Sine Ratio

Let AABC be a right friangle with acute 2ZA. The sine of ZA
(written as sin A) is defined:
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le 1: Find sine ratios.

Find sin A and sin B. Write each answer as a fraction and as a
decimal. Round to four decimal places, if necessc:ry




le 2: Usmg sine.

Use a sine ratio to find the value of x. Round decimals to the

nearest tenth. A~
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Cosine Ratio

Let AABC be aright triangle with acute 2A. The cosine of
A (written as cos A) is defined:
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COS A=

le I: Find cosine ratios.

Find cos A and cos B. Write each answer as a fraction and as a
decimal. Round to four decimal pioces if necessary.

Cos A = CA = Lgo-: 0.0




le 2: Usmg cosine.

Use a cosine ratio to find the value of x. Round decimails to the
nearest tenth.

a) 10 b) >
S0° 7Y
X

X

C) O d) -

X X
G 42°
L]




Tangen{t Ratio

Let AABC be aright friangle with acute £A. The tangent of
LA (written as tan A) is defined:

,._leg opposile. _BC
" g adjasrk AT

le 1: Find {talngem ratios

Find the value of x to the nearest tenth.
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